NN SORAR
RBHsP 111 BEE S-S F=NRE S"HERNBE

—vIERE (10U NEE 69 » BBFZE 4D > & 1007)
1. BEAABCHI=8EARAB=6 BC=7 AC=88|BC -CA =

Ea =(k2k+1)Eb = (k+3,-2) BH > IISH (HES

208 » DESTE AABCHIBC 381 CD = 3BD ; G B57E AB BPE - & GD =rAB +sAC » Hipr s RES - 8l
g (r,s) =

(32) T = (=56) MEC =xa +yb * BIEH (x,y) =

48 » ZEAABC > P B BC2—% - BHBP: CP=3:4°Q /& AB 8% - & PQ = xAB +yAC - BI#t
(xy)= o c

= A(=2,5) B(1,-1)RAEFE FOIWEs - PRERAB F—2% BHAP: 4B =1:3 - 8 PessiluEn B
o (FIfR)

208 @ b T =YIEISHEAR P& WEEANTRE 2R 1a | =5-|b |=3 > Ba Eb §IRER 60°
RIT|= .




HONB¥ 133

8.

9.

10.

11.

12.

13.

14.

b8yt

108 BRIENER ABCDEF ()8R 4 K AB DA + 4B CE =

£a=(-21)b=(k7) Ba-bHREERI0 WEHOESR

BZa =3B b =(-12)T=(3) ABHME @ +tb) Il @—7) » Bl (VAR

BfRLix+3y=281,2x+y =4 8)RAR

7B OWINBIEEFD £ 4B =a » BC =b » BFIR - RN T b KR

WE AD: DB=3:17AC: ﬁzZ:loE%ﬂﬁzxﬁ+yﬁ’
Kx,y)=

BHaT =(24) b =(-2,-2)  tAEBH K |a +tb | IB/IMER




HONB¥ 133

b8yt

BR1A(a,2) « B(3,-2) B C(43) AAEFE L=%  MOARRE - B8 04 B 0B EEE8 0C LHIESIEAR
B XaWER

a = (8,4) DEEMMIERD

W8 BRIESR ABCDEEER 12 * M BC 1025 - N CD 89=%/2% - K AM - AN =
N

£ A4ABCh - BRIZIRRSAIRR A(=3,1) ~ B(2,3) » C(1,5) * KAABC VEER

SZ4TU0:8HZ ABCD G » AB =10 AD =6+ B| AC -BD =

OUUER ABCD o EMHBREMES » B A(-24)  B(—40) » C(1,0) » R (D 7 CA LHESRTFEAR

o o




PONEEDE]  SOFRiREE

RSP 111 BEE F—BH F=NRE S_HSRBE

(=1,3) or (-3,7)

I1.

45° or 135°

16.




